TH3EEAILBIR(BARD)

WITH: fM4$38140
BATISGAT BRRALZWIFFE2R FHHTIINI=ZTE1E1S)
ZRIAGE FERBREALL

i # % %7 5 FEME | mum 5 "

10:00| EHMRAE(4—2)TF TR—=K |FEHETEEZTE N | 4,741,000 BEERMEFZE | SF45£6H308
10:20|{H# X AIE (4—1) TF IR—K |FHRHTMHE=TH N 4,455,000 BRRHEFFR | HF4E6A30H
10: 40| BT XA (4 —1) TF IR-—K |FHRTKAFHET A 3,564,000| ERRHERFR | HF4E8A31H
11:00| REMRAEM4—1)IE TAR—x |BEHFTRE=TEH #KN | 3278000 EiK#iFFE | HF4E6H308
11:20|AEEthXAIETS TAR—RK [FEFMA/MIZTE #hiN | 2497000 ERHMEEFR | $F04568308
11:40|FH B RAIFE(4—-3) TE IR—R |FHFTKRFEH HA 2,497,000| EIRHEFFR | HHI4E6H30H
13:00[Frypste X AiE (4—1) TF IAR—HK |FHRTKFHE A 2,486,000 EERHEFFER | SF45F6A30H
13:20[AF FHXAIiE TS TAR—K |BEHFHKRFEFF #A | 2486000 BEERMEER | $F44F6H308
13: 40| B THRAIE(4—1)TE IAR—R [FEHRTKFRI N 2,486,000| EIRHEFFR | HHI4E8A31H
14:00| EHEBRAIFE(4—1)TE TAR—K [EHFMEE—TE H#N | 2486000 EEHMEFRE | SF4568308
14:20|ZEBRAFE(4—-1)TE IAR—R [FHRTKFZH HRA 2,486,000| EIRHEFFR | HFI4E6H30H
14 40| EEHXAIE TS TAR—K [FEHFMEEZTE #N | 2486000 EEMEFR | $F4568308
15:00|{H i X SMAE T TR |FEFMMEZTE AN | 2486000 ERHMFR | HF4FE6H308
15: 20 =zt RAIE (4—1) T IR—HK |FHRTKF=ZA A 2,475,000| ERRHERER | RA4E8A31H




